

## MANGALORE REFINERY AND PETROCHEMICALS LIMITED

(A Govt of India Enterprise and Subsidiary of Oil & Natural Gas Corporation Limited)

Notice for Appointment for Regular and Rural Retail Outlet Dealerships in Karnataka



## **DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP**

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the State of Karnataka as per the following details:

Loc.No	Name of the Location	Revnue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site*	Rent per month in Rs.P per Sq.mt		n Dimensio the site **	•		e arranged by nt in Rs Lakhs	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7A		8		9a	9b	10	11	12
			Regular / Rural		SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC- 1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	CODO/DOD O/CFS	Only for CODO and CFS sites	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1	On LHS From Mezban Function Hall To Indal Circle On Belgavi Bauxite Road	Belgavi	Regular	240	Open	CODO	51.00	20	20	600	25	15	Bidding	30	5
2	On LHS From Kerala Hotel In Biranholi Village To Hanuman Temple ,Ukkad On Kolhapur To Belgavi - NH48	Belgavi	Regular	230	Open	DODO	-	35	35	1225	25	100	DOL	15	5
3	Within Tanigere Panchayath Limit On SH 76	Davangere	Regular	105	OBC	DODO	-	30	30	900	25	75	DOL	15	4
4	On LHS Of NH275 From Byrapatna (Channapatna Taluk) Towards Mysore	Ramnagara	Regular	171	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
5	On LHS From Sharanabasaveshwar Temple To St Xaviers P U College On NH50 (Kalburgi To Vijaypura Road)	Kalburgi	Regular	225	Open CC-1	DODO	-	35	35	1225	25	100	DOL	15	5
6	Within 02 Kms From Km Stone No. 115 On LHS Of NH 48 Towards Sira	Tumkur	Regular	182	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
/	On LHS From Bio Diversity Park Belagavi To Marathi Mandal High School Towards Goa On SH-54	Belgavi	Regular	255	Open	DODO	-	20	20	600	25	60	DOL	15	5
8	Within 1 Km Of Dodballarpura Taluka Revenue Office On SH 74 (Within Doddaballarpur Town Limit)	Bangalore Rural	Regular	167	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
	Mangoli Byepass And Mangoli Road Intersection To Intersection Of Utnal Road And NH50 On LHS Towards Vijaypura (Mangoli To Vijaypura NH50)	Vijaypura	Regular	228	Open	DODO	-	35	35	1225	25	100	DOL	15	5
I 10	Within 2.0 Kms From Benche Gate Towards Sira On SH 84 Of Mysore- Sira Road	Tumkur	Regular	113	OBC	DODO	-	30	30	900	25	75	DOL	15	4
11	On SH31 , From Hotel Annapurna (Naka Number 1) To Gokak Rto Office	Belgavi	Regular	225	Open	DODO	-	20	20	600	25	60	DOL	15	5
I 17	Saigiri Water Park To Airport Road Crossing On SH10 (Kalburgi - Sedam Road)	Kalburgi	Regular	210	Open	DODO	-	30	30	900	25	75	DOL	15	5
13	Between Kadur & Birur On NH 69	Chikkamagalur	Regular	160	SC CC-1	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
14	Within Sindhanur Town Limits ( On Any Main Road)	Raichur	Regular	210	OBC CC-1	DODO	-	20	20	600	25	60	DOL	15	4
15	From Hotel Nisarga Palace To Hotel Sri Ram (Ram Mandir) In Chikodi On SH-18 (Nippani - Mudhol Road)	Belgavi	Regular	195	Open	DODO	-	20	20	600	25	60	DOL	15	5
16	From Sandeep Hotel ,Janwada To Koutha Bridge On SH122 (Janwada - Aurad Road)	Bidar	Regular	210	Open PH	DODO	-	30	30	900	25	75	DOL	15	5
17	On LHS Of NH 275 From Madapura Cross To Manchanayakanahalli	Ramnagara	Regular	159	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
18	Within Raichur Town Limits (On Any Main Road)	Raichur	Regular	210	OBC	DODO	-	20	20	600	25	60	DOL	15	4

On Wiley and Atheni Dood Datuson Hatal Four Davidson, And Make	T							1	1					
On Vijayapur-Athani Road Between Hotel Fern Residency And Maha Lakshmi Temple , Torvi	Vijaypura	Regular	195	Open	CODO	28.10	20	20	600	25	15	Bidding	30	5
On LHS Of NH 50 From Gram Panchayat Office SHivangi To Hotel S K Family Restaurant ,Devar Hippargi (Vijayapur - Kalburgi Road)	Vijaypura	Regular	210	ОВС	DODO	-	35	35	1225	25	100	DOL	15	4
Chintamani Town On Any Main Road (Within Town Limits)	Chikkaballapur	Regular	286	ST	CFS	28.10	20	20	600	-	-	DOL	Nil	3
On Rakaskop Road , Belagavi from Corporation Bank Branch To Rakshita Hotel And Kirana General Stores	Belgavi	Regular	150	Open	DODO	-	20	20	600	25	60	DOL	15	5
On Kulageri Badami Road From Muttalageri Village To Intersection With Aladakatti Road	Bagalkot	Regular	138	Open	DODO	-	30	30	900	25	75	DOL	15	5
On LHS Of SH 73 (Belavadi-Dharwad Road)From Belavadi Mallamma Circle To Dandeshwar Temple	Belgavi	Regular	115	Open	DODO	-	30	30	900	25	75	DOL	15	5
	Raichur	Regular	210	OBC	DODO	-	20	20	600	25	60	DOL	15	4
	Bangalore Rural	Regular	156	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
Ramlingeshwar Temple Road Crossing	Belgavi	Regular	105	Open	DODO	-	30	30	900	25	75	DOL	15	5
On Bidar Janwad Road, From Intersection Of Ring Road And SH122 To Markal Gram Panchayat	Bidar	Regular	210	Open CC-1	DODO	-	30	30	900	25	75	DOL	15	5
Sp Office Dharwad To Jabbar Pump On Dharwad - Belgavi Road	Dharwad	Regular	210	ОВС	DODO	-	20	20	600	25	60	DOL	15	4
On SH 1 Between Karkala Taluk Office And Athuru Kabbettu	Udupi	Regular	165	ST	CFS	28.10	20	20	600	-	-	DOL	Nil	3
Within Shimoga Corporation Limit On Thirthahalli Road Of NH 169	Shimoga	Regular	160	Open	DODO	-	20	20	600	25	60	DOL	15	5
Within Kalburgi Town Limits ( On Any Main Road)	Kalburgi	Regular	210	OBC	DODO	-	20	20	600	25	60	DOL	15	4
On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally Village	Shimoga	Regular	160	Open	DODO	-	35	35	1225	25	100	DOL	15	5
Sanikere Panchayath Limit On NH 150A	Chitradurga	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
On RHS Of NH 275 From Puttur Santhyar Gundi Gadde, To Purpunja	Dakshina Kannada	Regular	160	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
On Kalburgi Ring Road	Kalburgi	Regular	210	OBC	DODO	-	20	20	600	25	60	DOL	15	4
On RHS Of NH 50 From Chitradurga To Hospet, Within Gr Halli Panchayath Limit.	Chitradurga	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
From Kollur To Somasamudra On NH150A	Bellary	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
Within 1Km From Huskur Gate Towards Huskur Fruit Market	Bangalore Urban	Regular	176	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
	Koppal	Regular	210	ОВС	DODO	-	35	35	1225	25	100	DOL	15	4
Within 2 Kms From Thirthahalli Gandhi Square On Agumbe Road Of NH 169A	Shimoga	Regular	120	Open	DODO	-	20	20	600	25	60	DOL	15	5
On LHS, Within 2 Kms From Challakere Gate Bus Stop (Mg Road), Jagalur Town Towards Davangere Of SH 65	Davangere	Regular	120	Open	DODO	1	20	20	600	25	60	DOL	15	5
On LHS Of NH 50 Towards Bangalore, From Vijaypura Toll Plaza To Rajasthan Dhaba, Hittinahalli	Vijaypura	Regular	210	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
From Indiranagar Metro Station To ESI Hospital On LHS Of Indiranagar Double Road	Bangalore Urban	Regular	338	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
	Davangere	Regular	120	Open	DODO	-	20	20	600	25	60	DOL	15	5
Within 5 Kms From Challakere Junction On Challakere- Chitradurga Road (SH 48)	Chitradurga	Regular	120	Open	DODO	-	30	30	900	25	75	DOL	15	5
	Dharwad	Regular	195	OBC	DODO	1	30	30	900	25	75	DOL	15	4
From Attibele To Tamilnadu Border On Attibele- Rayakottai Road On State Highway	Bangalore Urban	Regular	291	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
Within Byadagi Muncipal Limit From Chamanshahwali Dargah Towards Kadarmandalgi	Haveri	Regular	110	Open	DODO	-	20	20	600	25	60	DOL	15	5
Within 2 Kms From Hucharaya Swamy Temple On Shikharipura - Honnali Road	Shimoga	Regular	105	Open	DODO	-	30	30	900	25	60	DOL	15	5
	On LHS Of NH 50 From Gram Panchayat Office SHivangi To Hotel S K Family Restaurant , Devar Hippargi (Vijayapur - Kalburgi Road)  Chintamani Town On Any Main Road (Within Town Limits)  On Rakaskop Road , Belagavi from Corporation Bank Branch To Rakshita Hotel And Kirana General Stores  On Kulageri Badami Road From Muttalageri Village To Intersection With Aladakatti Road  On LHS Of SH 73 (Belavadi-Dharwad Road)From Belavadi Mallamma Circle To Dandeshwar Temple  Within Lingasugur Town Limits ( On Any Main Road)  Within 2 Kms From Bangaluru Rural DC Office On NH648  On SH 34 (Mullur- Ramadurg) From Mullur Village To SHri Ramlingeshwar Temple Road Crossing  On Bidar Janwad Road, From Intersection Of Ring Road And SH122 To Markal Gram Panchayat  Sp Office Dharwad To Jabbar Pump On Dharwad - Belgavi Road  On SH 1 Between Karkala Taluk Office And Athuru Kabbettu  Within Shimoga Corporation Limit On Thirthahalli Road Of NH 169  Within Kalburgi Town Limits ( On Any Main Road)  On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally Village  Sanikere Panchayath Limit On NH 150A  On RHS Of NH 275 From Puttur Santhyar Gundi Gadde, To Purpunja  On Kalburgi Ring Road  On RHS Of NH 50 From Chitradurga To Hospet, Within Gr Halli Panchayath Limit.  From Kollur To Somasamudra On NH150A  Within 1Km From Huskur Gate Towards Huskur Fruit Market  On LHS Of NH 67 (Gadag - Koppal Road) From Intersection With SH129 At Halagere To Govt Engineering College, Talakal Koppal  Within 2 Kms From Thirthahalli Gandhi Square On Agumbe Road Of NH 169A  On LHS, Within 2 Kms From Challakere Gate Bus Stop (Mg Road), Jagalur Town Towards Davangere Of SH 65  On LHS Of NH 50 Towards Bangalore, From Vijaypura Toll Plaza To Rajasthan Dhaba, Hittinahalli  From Indiranagar Metro Station To ESI Hospital On LHS Of Indiranagar Double Road  Within Channagiri Muncipal Limit On NH 369  Within S kms From Challakere Junction On Challakere- Chitradurga Road (SH 48)  From Telcon Factory Gate To Garag Town On Dharawad-Bailhongal Rd (SH73)  From Attibele To Ta	Lakshmi Temple, Torvi  On LHS Of NH 50 From Gram Panchayat Office SHivangi To Hotel S K Family Restaurant, Devar Hippargi (Vijayapur - Kalburgi Road)  Chintamani Town On Any Main Road (Within Town Limits)  On Rakaskop Road, Belagavi from Corporation Bank Branch To Rakshita Hotel And Kirana General Stores  On Kulageri Badami Road From Muttalageri Village To Intersection With Aladakatti Road  On LHS Of SH 73 (Belavadi-Dharwad Road)From Belavadi Mallamma Circle To Dandeshwar Temple Within Lingasugur Town Limits ( On Any Main Road)  Raichur Within Lingasugur Town Limits ( On Any Main Road)  Raichur String From Bangaluru Rural DC Office On NH648  Belgavi  Within Lingasugur Town Limits ( On Any Main Road)  Raichur Bangalore Rural  On SH 34 (Mullur-Ramadurg) From Mullur Village To SHri Ramlingeshwar Temple Road Crossing  On Bidar Janwad Road, From Intersection Of Ring Road And SH122 To Markal Gram Panchayat  Sp Office Dharwad To Jabbar Pump On Dharwad - Belgavi Road  On SH 1 Between Karkala Taluk Office And Athuru Kabbettu  Within Shimoga Corporation Limit On Thirthahalli Road Of NH 169  Within Kalburgi Town Limits ( On Any Main Road)  On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally Village  Within Kalburgi Town Limits ( On Any Main Road)  On RHS Of NH 275 From Puttur Santhyar Gundi Gadde, To Purpunja  Dakshina Kannada  On RHS Of NH 875 From Puttur Santhyar Gundi Gadde, To Purpunja  Dakshina Kannada  On RHS Of NH 67 From Chitradurga To Hospet, Within Gr Halli  Panchayath Limit.  From Kollur To Somasamudra On NH150A  Bellary  Within 12 Kms From Huskur Gate Towards Huskur Fruit Market  On LHS Of NH 67 (Gadag - Koppal Road) From Intersection With  Sh129 At Halagere To Govt Engineering College, Talakal Koppal  Within 2 Kms From Thirthahalli Gandhi Square On Agumbe Road Of  NH 169A  On LHS Of NH 50 Towards Bangalore, From Vijaypura Toll Plaza To Rajasthan Dhaba, Hittinahalli  From Towards Davangere Of SH 65  On LHS Of NH 50 Towards Bangalore, From Vijaypura Toll Plaza To Rajasthan Dhaba, Hittinahalli  From	Lakshmi Temple , Torvi  On LHS Of NH 50 From Gram Panchayat Office Shivangi To Hotel S K pamily Restaurant , Devar Hippargi (Vijayapur - Kalburgi Road)  Chintamani Town On Any Main Road (Within Town Limits)  On Rakaskop Road , Belagavi from Corporation Bank Branch To Rakshita Hotel And Kirana General Stores  On Rulageri Badami Road From Muttalageri Village To Intersection With Aladakatti Road  On LHS Of SH 73 (Belavadi-Dharwad Road) From Belavadi Mallamma Circle To Dandeshwar Temple  Within Lingasugur Town Limits ( On Any Main Road)  On LHS Of SH 73 (Belavadi-Dharwad Road) From Belavadi Mallamma Circle To Dandeshwar Temple  Within 12 Kms From Bangaluru Rural DC Office On NH648  Bangalore Rural  On SH 34 (Mulfur- Ramadurg) From Multur Village To SHri Ramlingeshwar Temple Road Crossing  Belgavi  Regular  On SH 34 (Mulfur- Ramadurg) From Multur Village To SHri Ramlingeshwar Temple Road Crossing  Belgavi  Regular  On SH 35 (Shamada Road)  On Bidar Janwad Road, From Intersection Of Ring Road And SH122 To Markal Gram Panchayat  Sp Office Dharwad To Jabbar Pump On Dharwad - Belgavi Road  On SH 1 Between Karkala Taluk Office And Athuru Kabbettu  Udupi Regular  Within Shimoga Corporation Limit On Thirthahalli Road Of NH 169  Shimoga  Regular  On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally  Village  Sanikere Panchayath Limit On NH 150A  On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally  Village  On RHS Of NH 69 From Bhadravathi Bypass Junction To Machenahally  Village  On RHS Of NH 50 From Puttur Santhyar Gundi Gadde, To Purpunja  On Kalburgi Ring Road  On RHS Of NH 50 From Chitradurga To Hospet, Within Gr Halli  Panchayath Limit.  From Kollur To Somasamudra On NH150A  Bellary  Regular  On LHS Of NH 69 From Hushcard Gate Bus Stop (Mg Road),  Jagalur Town Limit.  From Kollur To Somasamudra On NH150A  Bellary  Regular  Within 2 Kms From Thirthahalli Gandhi Square On Agumbe Road Of  NH 169A  On LHS Of NH 50 From Shirdering College, Talakai Koppal  Within 2 Kms From Challakere Gate Bus Stop (	Lakshmi Temple , Torvi  On LHS OF NH 50 From Gram Panchayat Office SHivangi To Hotel S K Pamily Restaurant, Devar Hippargi (Vijaypur - Kalburgi Road)  Chintamani Town On Any Main Road (Within Town Limits) On Rakaskop Road , Belagavi from Corporation Bank Branch To Baskhita Hotel And Kirana General Stores On Kulageri Badami Road From Muttalageri Village To Intersection With Aladakati Road On LHS Of SH 73 (Seleavadi-Oharwad Road)From Belavadi Mallamma Circle To Dandeshwar Temple Within Lingasyur Town Limits (On Any Main Road) Raichur Regular 115 Regular 156 On SH 34 (Mullar-Ramadurg) From Multur Village To SHri Ramilingeshwar Temple Road Crossing On Bidar Janwad Road, From Intersection Of Ring Road And SH122 To Markal Gram Panchayat Sp Office Dharwad To Jabbar Pump On Dharwad - Belgavi Road On SH 1 Between Karkala Taluk Office And Athuru Kabbettu Udupi Regular 165 Within Kalburgi Town Limits (On Any Main Road) Within Kalburgi Town Limits (On Any Main Road) On RHS Of NH 95 From Bhadravathi Bypass Junction To Machenahally Village Sanikere Panchayath Limit On NH 150A On RHS Of NH 95 From Bhadravathi Bypass Junction To Machenahally Village On RHS Of NH 97 (Sadag - Koppal Road) On RHS Of NH 97 From Phitri Shalli Gandki, To Purpunja Dakshina kannada Regular 150 On RHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On RHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On RHS Of NH 97 (Sadag - Koppal Road) From NH 150A On RHS Of NH 97 (Sadag - Koppal Road) From Vilaypura Regular 150 On LHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On LHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On LHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On LHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On LHS Of NH 97 (Sadag - Koppal Road) From Intersection With SH159A On LHS Of NH 97 (Sadag - Koppal Road	Description   Description	Lashmir Emple, Crovi  On LHS OF NH 50 From Gram Panchayat Office SHivangi To Hotel S K  Taminy Restruant. Devar Hippangi (Vijayapur - Kalbungi To Hotel S K  Taminy Restruant. Devar Hippangi (Vijayapur - Kalbungi To Hotel S K  Taminy Restruant. Devar Hippangi (Vijayapur - Kalbungi Road)  On Rakaskolt Road, Selegavi from Corporation Bank Branch To  Rakshital Kotel And Kirana General Stores  On Kalayati Road Road From Muttalageri Vilage To Intersection  Nith Albadahatti Road  One Nas Soft Mark Road From Muttalageri Vilage To Intersection  Nith Albadahatti Road  One NIS Of SH 2 (Belawadi-Dharwad Sood)From Belavadi Mallamma  Circle To Dandeshwar Temple  Within Lingsaupur Town Limits (On Any Main Road)  Nithin Lingsaupur Town Limits (On Any Main Road)  Not SH 24 (Nullur Instandury) From Multur Vilage To Shri  Ramilingshwar Temple Road Crossing  One SH 24 (Nullur Instandury) From Multur Vilage To Shri  Ramilingshwar Temple Road Crossing  One SH 24 (Nullur Lingsaupur) From Multur Vilage To Shri  Ramilingshwar Temple Road Crossing  One SH 24 (Nullur Lingsaupur) From Multur Vilage To Shri  Ramilingshwar Temple Road Crossing  One SH 24 (Nullur Lingsaupur) From Adhuru Kalbarati  Spothice Dharwad To Jabbar Pump On Dharwad-Belgavi Road  Dharwad  Regular 200 Open CC-1  DODO  NSH 11 Bertween Karisha Taluk Office And Athuru Kalbarati  Spothice Dharwad To Jabbar Pump On Dharwad-Belgavi Road  Dharwad  Regular 210 OBC  On SH 15 Girl Lingshwar Road  Nithin Shimoga Regular 210 OBC  On RHS Of NH 26 From Bhadravathi Bipaas Anction To Machenahalh)  Nithin Shimoga Corporation Limit On Thirthshalli Road of NH 1593  Shimoga Regular 210 OBC  On RHS Of NH 26 From Bhadravathi Bipaas Anction To Machenahalh)  Nithin Shimoga Corporation Limit On Thirthshalli Road of NH 1594  Shimoga Regular 150 Open DODO  NHS Of NH 26 From Bhadravathi Bipaas Anction To Machenahalh)  Nithin Shimoga Corporation Limit On Thirthshalli Road of NH 1594  Shimoga Regular 150 Open DODO  On RHS Of NH 26 From Puttur Santhyra Gundi Gadde, To Purpunja Osakhina Kanada  Regul	Description   Page   Page			Listahum Temple   Travis   Open   Club   Act   Act	Negative   1950   195	Speciment Property   Company   Com	Accordance   Acc	Section   Company   Section   Sect

	Within Bagalkot Town Limits (On Any Main Road)	Bagalkot	Regular	180	OBC	DODO	_	20	20	600	25	60	DOL	15	Д
	· · · ·	Shimoga	Regular	105	Open	DODO	_	30	30	900	25	75	DOL	15	5
53	Within Gurupura Panchayat Limits On NH 169 (Mangalore -	Dakshina Kannada	Regular	150	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
	Moodbidri Rd) Within Mudhol Town Limits ( On Any Main Road )	Bagalkot	Regular	180	OBC	DODO	_	20	20	600	25	60	DOL	15	1
	Within Hungund Town Limits ( On Any Main Road)	Bagalkot	Regular	180	Open CC-1	DODO	_	20	20	600	25	60	DOL	15	5
	Between Agadi Thota & Tadas On SH 01 (Hanagal- Hubli Road)	Haveri	Regular	105	Open Open	DODO	_	30	30	900	25	75	DOL	15	5
		Chitradurga	Regular	165	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
	Mishin Illial Tarris Limita / On Ann Main Dond	Desellet	Desules	100	ODC	DODO		20	20	600	25	60	DOL	15	4
	Within Ilkal Town Limits ( On Any Main Road)	Bagalkot	Regular	180	OBC	DODO	-	20	20	600	25	60	DOL	15	4
59	(Naubad To Andur)	Bidar	Regular	255	Open	CODO	22.90	35	35	1225	25	15	Bidding	30	5
60	On LHS Of SH 15 From Harshita Garden Restaurant To Sbi, Kalmala Village (Lingasugur - Raichur Rd)	Raichur	Regular	255	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
61	Within Hariharapura Panchayath Limit On NH 169	Chikkamagalur	Regular	150	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
62	Within Jamkhandi Town Limits ( On Any Main Road)	Bagalkot	Regular	180	OBC	DODO	-	20	20	600	25	60	DOL	15	4
63	Within Belgavi Town Limits ( On Any Main Road)	Belgavi	Regular	250	Open	CODO	51.00	20	20	600	25	15	Bidding	30	5
64	Within Bhalki Town Limits ( On Any Main Road)	Bidar	Regular	180	Open CC-2	DODO	-	20	20	600	25	60	DOL	15	5
65	On LHS Of NH67 (Gadag - Hubli Rd) Between Intersection With Hubli Ring Road And Intersection With SH137	Dharwad	Regular	180	OBC CC-1	DODO	-	35	35	1225	25	100	DOL	15	4
66	On Alnavar - Dharwad Road (SH 93) Between Alnavar Bus Stand And Intersection With NH67.	Dharwad	Regular	180	SC CC-1	CFS	22.90	30	30	900	-	-	DOL	Nil	3
		Belgavi	Regular	240	Open	CODO	28.10	20	20	600	25	15	Bidding	30	5
hX I	On LHS Of SH 20 (Belgavi Airport Rd) Between Sri Renuka Motors and	Belgavi	Regular	240	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
	Within Afzalpur Town Limits ( On Any Main Road)	Kalburgi	Regular	180	OBC	DODO	_	20	20	600	25	60	DOL	15	Δ
70	On LHS Towards Ranebennur Of NH 48, Within 3 Kms From Tungabhadra Extension, Halebhathi	Davangere	Regular	150	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
71	On LHS Of NH 48 (Hubli - Davangere Rd) From RNS Trucking To Sri Siddharoodha Math	Dharwad	Regular	240	Open	CODO	22.90	35	35	1225	25	15	Bidding	30	5
72	On LHS Of NH 52 Towards Karwar, Between Khodays Food Industry And Country Club Water Park	Dharwad	Regular	240	Open	CODO	22.90	35	35	1225	25	15	Bidding	30	5
	Within Koppal Town Limits ( On Any Main Road)	Koppal	Regular	180	OBC	DODO	_	20	20	600	25	60	DOL	15	4
	Within Dharwad Town Limits (On Any Main Road)	Dharwad	Regular	240	Open	CODO	51.00	20	20	600	25	15	Bidding	30	5
	` ' '	Chitradurga	Regular	150	SC	CFS	22.90	35	35	1225	-	- 13	DOL	Nil	3
	Within Hubli Town Limits ( On Any Main Road)	Dharwad	Regular	240	Open	CODO	51.00	20	20	600	25	15	Bidding	30	5
77	On NH 150 A (Maski To Bellary) Between Maski APMC and	Raichur	Regular	180	ОВС	DODO	-	35	35	1225	25	100	DOL	15	4
	Tungbhadra Left Canal Crossing Within Vilayoura Town Limits (On Any Main Road)	Viiavnura	Pogular	190	Open CC 1	DODO		20	20	600	25	60	DOI	15	Е
78	Within Vijaypura Town Limits (On Any Main Road)	Vijaypura	Regular	180	Open CC-1	DODO	-	20	20	600	25	60	DOL	15	5
	, , , ,	Shimoga	Regular	120	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
80	Bharat Swimming Pool & Jain Public School	Vijaypura	Regular	180	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
81	On Aland To Kalburgi Road (SH34) Between Aland Rto Office And KSWC ware house	Kalburgi	Regular	240	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
1 87 1	Between Aland Rto Office And Shakhapur Bridge On Aland - Wagdari Road (SH10)	Kalburgi	Regular	240	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
83	From Bhima River Bridge To Bandalli Village On Yadgir To Bidar Road	Yadgir	Regular	168	ОВС	DODO	-	30	30	900	25	75	DOL	15	4
		Dakshina Kannada	Regular	160	SC	CFS	22.90	30	30	900	-	-	DOL	Nil	3
85	Between Kadaganchi Bus Stand & Sri Veeranteshwara Veeraktha Math On Kadganchi - Kalburgi Road (SH10)	Kalburgi	Regular	240	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
86	On SH 10 (Sannur To Malkhed ) From Intersection With SH125 In	Kalburgi	Regular	240	Open	CODO	22.90	30	30	900	25	15	Bidding	30	5
	On LHS Of SH 28 (Dharwad - Hebbali Rd) Between Shree Manikantha	Dharwad	Regular	165	OBC	DODO		20	20	600	25	60	DOL	15	4

88	DOL Bidding  DOL DOL Bidding Bidding  Bidding  DOL Bidding DOL DOL	15 15 60 - 15 15 75 15 - 15 60	Bidding Bidding DOL Bidding Bidding DOL Bidding DOL Bidding	Iding	3 3 1 N 3 3 1 1 N N N N N	Nil 30 15 Nil 30 15 30 Nil 30 Nil 30	3 5 5 4 3 5 5 4 5 3
Basamma Rachppa Bhutpur Kalyana Mantapa   Kallourgi   Kegular   240   Open   CODO   22.90   30   30   900   25   15	Bidding  DOL  Bidding  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding	15 60 - 15 15 - 15 60	Bidding  DOL  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL	Iding OOL Iding OOL Iding OOL Iding OOL	3 1 N 3 3 1 1 N N N N N	30 15 Nil 30 30 15 30 Nil	5 4 3 5 5 4 5
On LHS Of Shivamoga KSRTC Depot Road (80 Feet Road) Towards   Shimoga   Regular   165   Open   CODO   28.10   20   20   600   25   15	DOL  DOL  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	60 - 15 15 15 15 - 15 60	DOL  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL	DOL  Iding  Iding  OOL  Iding  OOL  Iding	1 N 3 3 3 1 1 3 N	15 Nil 30 30 15 30 Nil	4 3 5 5 4 5 3
New Mandali Bypass Not On NH 169	DOL  DOL  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	60 - 15 15 15 15 - 15 60	DOL  Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL	DOL  Iding  Iding  OOL  Iding  OOL  Iding	1 N 3 3 3 1 1 3 N	15 Nil 30 30 15 30 Nil	4 3 5 5 4 5 3
Technology Institute and Basaveshwar Temple, Nagasamudra   Gadag   Regular   165   URCPH   DUDU   - 20   20   600   25   60	DOL Bidding  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	- 15 15 75 15 - 15 60	DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	Iding Iding OOL Iding OOL Iding	N 3 3 1 1 3 N	Nil 30 30 15 30 Nil	3 5 5 4 5
92 On RHS, Between Banakal - Horatti On NH 73 (Kottigehara- Mudigere Road)	Bidding Bidding DOL Bidding DOL Bidding DOL Bidding DOL	15 15 75 15 - 15 60	Bidding Bidding DOL Bidding DOL Bidding	Iding Iding OOL Iding OOL Iding	3 3 1 3 N	30 30 15 30 Nil	5 5 4 5 3
93   From Tadagani Gate To Shiralakoppa On SH 01   Shimoga   Regular   150   Open   CODO   22.90   30   30   900   25   15     94   Between Kumarapattanam Post Office & Harihara Bridge On SH 76   Haveri   Regular   150   Open   CODO   22.90   30   30   900   25   15     95   On SH 23 (Ginigera-Raichur Road) from Ultratech Cement Factory Main Gate To Budugumpa Cross (NH50 Junction)   Koppal   Regular   165   OBC   DODO   - 30   30   900   25   75     96   On NH 69, Between Tyagarthi Cross and Gandhi Nagar Circle Of Sagara Muncipal Limit   Shimoga   Regular   160   Open   CODO   28.10   20   20   600   25   15     97   Harapanahalli APMC To New Fire Station On SH-2   Bellary   Regular   146   ST   CFS   22.90   30   30   900       98   Within 2 Kms From Jaipura Marikamba Temple Towards Channagiri On NH369   Regular   150   Open   CODO   22.90   35   35   1225   25   15     99   Raj Bhavan Kalyana Mantapa To Railway Level Crossing (Vijaypura To Indi Road)   Vijaypura To Indi Road)   Vijaypura To Indi Road)   Vijaypura To Indi Road)   Regular   150   Open   CODO   28.10   35   35   1225   25   15     101   Within Mudigere Town Limit On NH 173   Chikkamagalur   Regular   150   OBC   OBC   ODDO   - 20   20   600       102   Within Gadag Town Limit On NH 66   Uttar Kannada   Regular   150   Open   CODO   22.90   35   35   1225   25   15     104   On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48   Dhaward   Regular   150   Open   CODO   22.90   35   35   1225   25   15     104   On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48   Dhaward   Regular   150   Open   CODO   22.90   35   35   1225   25   15     105   On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48   Dhaward   Regular   150   Open   CODO   22.90   35   35   1225   25   15     105   On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48   Dhaward   Regular   150   Open   CODO   22.90   35   35   1225   25   15     106   On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48	Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	15 75 15 - 15 60	Bidding  DOL  Bidding  DOL  Bidding	Iding OOL Iding OOL Iding	3 1 3 N	30 15 30 Nil	5 4 5 3
Setween Kumarapattanam Post Office & Harihara Bridge On SH 76   Haveri   Regular   150   Open   CODO   22.90   30   30   900   25   15	DOL  Bidding  DOL  Bidding  DOL  Bidding  DOL	75 15 - 15 60	DOL  Bidding  DOL  Bidding	OOL Iding OOL Iding	1 3 N	15 30 Nil	5 3
Main Gate To Budugumpa Cross (NH50 Junction)   Roppal   Regular   165   OBC   DODO   - 30   30   900   25   75	Bidding  DOL  Bidding  DOL  Bidding  DOL	15 - 15 60	Bidding DOL Bidding	lding OOL Iding	3 N	30 Nil	5
Sagara Muncipal Limit   Shimoga   Regular   160   Open   CODO   28.10   20   600   25   15	DOL Bidding DOL Bidding DOL	- 15 60	DOL Bidding	OOL	N	Nil	3
Within 2 Kms From Jaipura Marikamba Temple Towards Channagiri Chitradurga Regular 150 Open CODO 22.90 35 35 1225 25 15  Page Raj Bhavan Kalyana Mantapa To Railway Level Crossing (Vijaypura Regular 165 OBC DODO - 20 20 600 25 60 100 On LHS of NH48 towards Hubli within Haveri Municipal Limits Haveri Regular 195 Open CODO 28.10 35 35 1225 25 15 101 Within Mudigere Town Limit On NH 173 Chikkamagalur Regular 150 SC CFS 28.10 20 20 600 102 Within Gadag Town Limits (On Any Main Road) Gadag Regular 160 OBC DODO - 20 20 600 25 60 103 Within Bengre Panchayath Limit On NH 66 Uttar Kannada Regular 150 Open CODO 22.90 35 35 1225 25 15 15 104 On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48 Dharwad Regular 150 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 35 1225 25 75 15 104 Open COLO 22.90 35 35 35 1225 25 75 104 Open COLO 22.90 35 35 35 1225 25 125 125 125 125 125 125 125 12	Bidding  DOL  Bidding  DOL	15 60	Biddin <sub>i</sub>	lding			
98         On NH369         Chitradurga         Regular         150         Open         CODO         22.90         35         35         1225         25         15           99         Raj Bhavan Kalyana Mantapa To Railway Level Crossing (Vijaypura To Indi Road)         Vijaypura         165         OBC         DODO         -         20         20         600         25         60           100         On LHS of NH48 towards Hubli within Haveri Municipal Limits         Haveri         Regular         195         Open         CODO         28.10         35         35         1225         25         15           101         Within Mudigere Town Limit On NH 173         Chikkamagalur         Regular         150         SC         CFS         28.10         20         20         600         -         -           102         Within Gadag Town Limits ( On Any Main Road)         Gadag         Regular         160         OBC         DODO         -         20         20         600         25         60           103         Within Bengre Panchayath Limit On NH 66         Uttar Kannada         Regular         150         Open CC1         DODO         -         20         20         600         25         15           104	DOL Bidding DOL	60	DOL		3	20	5
100   On LHS of NH48 towards Hubli within Haveri Municipal Limits   Haveri   Regular   165   OBC   DODO   -   20   20   600   25   60	Bidding DOL					30	
100       On LHS of NH48 towards Hubli within Haveri Municipal Limits       Haveri       Regular       195       Open       CODO       28.10       35       35       1225       25       15         101       Within Mudigere Town Limit On NH 173       Chikkamagalur       Regular       150       SC       CFS       28.10       20       600       -       -         102       Within Gadag Town Limits ( On Any Main Road)       Gadag       Regular       160       OBC       DODO       -       20       20       600       25       60         103       Within Bengre Panchayath Limit On NH 66       Uttar Kannada       Regular       150       Open CC-1       DODO       -       20       30       30       900       25       75	DOL	15 -		OOL	1	15	4
101       Within Mudigere Town Limit On NH 173       Chikkamagalur       Regular       150       SC       CFS       28.10       20       20       600       -       -         102       Within Gadag Town Limits ( On Any Main Road)       Gadag       Regular       160       OBC       DODO       -       20       20       600       25       60         103       Within Bengre Panchayath Limit On NH 66       Uttar Kannada       Regular       150       Open CC-1       DODO       -       30       30       900       25       75			Biddin	lding	3	30	5
103 Within Bengre Panchayath Limit On NH 66 Uttar Kannada Regular 150 Open CODO 22.90 35 35 1225 25 15  104 On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48 Dharwad Regular 150 Open CC-1 DODO 30 30 900 25 75	DOL				N	Nil	3
On SH 28 (Dhawrad - Dandeli Road ) between Intersection with NH48 Dharwad Regular 150 Open CC-1 DODO - 30 30 900 25 75		60	DOL	OL	1	15	4
1 100 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Bidding	15	Biddin	lding	3	30	5
And Nigadi Village	DOL	75	DOL	OCL	1	15	5
105 On SH 30 (Kushtagi-Sindhanur Road ) between Hanuman Temple and Shri Renuka Yallamma Temple  Regular 150 OBC DODO - 30 30 900 25 75	DOL	75	DOL	OCL	1	15	4
106 Between Aldur Cross (Vastare) & Chikkamagalur On NH 173 Chikkamagalur Regular 150 SC CFS 22.90 35 35 1225	DOL	-	DOL	OL	N	Nil	3
107 On RHS of NH 66 from Halengadi To Kolnad Dakshina Kannada Regular 170 Open CODO 22.90 35 35 1225 25 15	Bidding	15	Biddin	lding	3	30	5
108 Between Kumta Town & Divgi Bridge On NH 66 Uttar Kannada Regular 170 Open CODO 28.10 30 30 900 25 15	Bidding	15	Biddin	lding	3	30	5
Between Tahsildar Office Kushtagi To Veerabhadresvara Devastana (Nidasheshi) On Kustagi -Hanamsagar Road (SH59)  Regular 150  OBC DODO - 30 30 900 25 75	DOL	75	DOL	OCL	1	15	4
110 Between Bargi & Hiregutti On NH 66 Uttar Kannada Regular 150 ST CFS 22.90 35 35 1225	DOL	-	DOL	OL	N	Nil	3
111 Between Perdoor and Jogibettu On Perdoor Hebri Road (NH-169 A) Udupi Regular 165 Open CODO 22.90 35 35 1225 25 15	Bidding	15	Biddin	lding	3	30	5
112 Within 1 Kms From South End Circle (Towards Lalbagh West Gate ) On LHS Regular 351 Open CODO 67.60 20 20 500 25 15	Bidding	15	Biddin	lding	3	30	5
113 On RHS Of Savalanga- Nyamathi Road (SH 52) Within Savalanga Davangere Regular 105 Open DODO - 30 30 900 25 75	DOL	75	DOL	OCL	1	15	5
114 Within Basavana Bagewadi Town Limits ( On Any Main Road) Vijaypura Regular 150 OBC CC-1 DODO - 20 20 600 25 60	DOL	60	DOL	OL	1	15	4
115         Within Yadgir Town Limits ( On Any Main Road)         Yadgir         Regular         150         ST CC-1         CFS         28.10         20         20         600         -         -	DOL	-	DOL	OL	N	Nil	3
From PS - Railway Level Crossing To Canal Crossing on SH49 (Hospet - Bellary Regular 165 Open PH DODO - 30 30 900 25 75	DOL	75	DOL	OL	1	15	5
Hampi Road)	~	100	DOL	OL	1	15	4
Hampi Road)  117 Between Muduba Bridge & Bejjavalli On NH 169 Shimoga Regular 150 OBC DODO - 35 35 1225 25 100	DOL		I	OL	1	15	5
Hampi Road)	DOL	75	DOL		N	Nil	3
Hampi Road)  117 Between Muduba Bridge & Bejjavalli On NH 169 Shimoga Regular 150 OBC DODO - 35 35 1225 25 100  118 On LHS Of Hosadurga - Ajjampur Road (SH 24) Within Bokikere Chitradurga Regular 105 Open DODO - 30 30 900 25 75				OL			
Hampi Road)  117 Between Muduba Bridge & Bejjavalli On NH 169 Shimoga Regular 150 OBC DODO - 35 35 1225 25 100  118 On LHS Of Hosadurga - Ajjampur Road (SH 24) Within Bokikere Panchayath Limit Regular 105 Open DODO - 30 30 900 25 75	DOL	-	DOL			15	5
Hampi Road    117   Between Muduba Bridge & Bejjavalli On NH 169   Shimoga   Regular   150   OBC   DODO   - 35   35   1225   25   100	DOL	75	DOL	OL	1	15 15	5
Hampi Road)  117 Between Muduba Bridge & Bejjavalli On NH 169 Shimoga Regular 150 OBC DODO - 35 35 1225 25 100  118 On LHS Of Hosadurga - Ajjampur Road (SH 24) Within Bokikere Panchayath Limit  119 Between Mastikatte & Baleguli Cross On NH 52 Uttar Kannada Regular 150 SC CFS 22.90 35 35 1225 - 120  On RHS of SH 48 Within 1.5 Kms From Parashurampura Bus Stand towards Challakere  Chitradurga Regular 105 Open DODO - 30 30 900 25 75	DOL DOL DOL	- 75 60	DOL DOL	OOL	1		
117   Between Muduba Bridge & Bejjavalli On NH 169   Shimoga   Regular   150   OBC   DODO   - 35   35   1225   25   100	DOL DOL DOL	- 75 60 75	DOL DOL DOL	OOL OOL	1 1 1	15	4
117   Between Muduba Bridge & Bejjavalli On NH 169   Shimoga   Regular   150   OBC   DODO   - 35   35   1225   25   100	DOL DOL DOL DOL	- 75 60 75	DOL DOL DOL	00L 00L	1 1 1	15 15	5

126	From Kurubara Halli To Duggavathi On SH 25	Davangere	Regular	100	Open	DODO	_	30	30	900	25	75	DOL	15	5
-	Within Kodlipete Panchayath Limit On State Highway	Kodagu	Regular	100	Open CC-1	DODO	_	30	30	900	25	60	DOL	15	5
	Between Yellapura & Kirawatti On NH 52	Uttar Kannada	Regular	150	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
	Within Shanivarsanthe Village Limit On State Highway	Kodagu	Regular	100	OBC	DODO	-	30	30	900	25	60	DOL	15	4
130	On RHS, Within 2 Kms From Nehru Road, Jagalur Towards Kotturu On	Davangere	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
-	Within 1 Km From Hagalkere Handpost On SH 47	Chitradurga	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
	Within Somvarpete Town Limit	Kodagu	Regular	100	OBC	DODO	-	30	30	900	25	60	DOL	15	4
	Within Uppinangady Panchayath Limits On SH 118	Dakshina Kannada	Regular	125	SC	CFS	22.90	30	30	900	-	-	DOL	Nil	3
134	Between B Durga & TB Circle Via Sasalu On SH 47	Chitradurga	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
135	From Aquafun To Ram Petroleum On Bellary To Kudathini Road (NH67)	Bellary	Regular	270	Open	DODO	-	35	35	1225	25	100	DOL	15	5
136	Within Virajpete Town Limit	Kodagu	Regular	100	OBC	DODO	-	30	30	900	25	60	DOL	15	4
137	Within Haliyal Town Limt	Uttar Kannada	Regular	120	SC	CFS	28.10	20	20	600	-	1	DOL	Nil	3
1 138	On Moka To Bellary Road (SH132) between Intersection with Moka Road and Tungbhadra Right Canal Crossing	Bellary	Regular	168	Open	DODO	-	30	30	900	25	75	DOL	15	5
139	From RTO Bhalki To Kalwaadi Village on SH75	Bidar	Regular	270	Open	DODO	-	30	30	900	25	75	DOL	15	5
140	Within 2 Kms From Pala Cross On SH 69 (Mundgod- Sirsi Road)	Uttar Kannada	Regular	100	OBC	DODO	-	30	30	900	25	75	DOL	15	4
141	Within Belve limits On Kundapura- Agumbe Road ( SH 27 )	Udupi	Regular	130	ST	CFS	22.90	30	30	900	-	-	DOL	Nil	3
142	From Shahnawazpur To Sindegeri On SH19 (NH150A)	Bellary	Regular	140	Open	DODO	-	35	35	1225	25	100	DOL	15	5
143	Between Nanikatta & Kangod (Kansur) On SH 93	Uttar Kannada	Regular	100	OBC	DODO	-	30	30	900	25	75	DOL	15	4
144	Between Mathigatta & Kadur On NH 69 ( Not In Muncipal Limit)	Chikkamagalur	Regular	165	Open	DODO	-	35	35	1225	25	100	DOL	15	5
145	Between Panemangalore Netravathi Bridge To Melkar Junction On NH 75	Dakshina Kannada	Regular	175	Open	DODO	-	35	35	1225	25	100	DOL	15	5
146	Within 5 Kms From Kadabagere Cross (Magadi Road) Towards Magadi On SH-85	Bangalore Urban	Regular	187	SC	CFS	67.60	20	20	500	-	•	DOL	Nil	3
147	Within Vamanjoor Town Limit	Dakshina Kannada	Regular	130	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
148	On LHS of NH 66 between Karavali Junction Udupi To Katpadi	Udupi	Regular	160	Open	DODO	-	30	30	900	25	60	DOL	15	5
149	Within Puttur Town Limit Not On NH/SH	Dakshina Kannada	Regular	160	Open	DODO	-	30	30	900	25	60	DOL	15	5
150	Within 2 Kms From Ajjampur Bus Stand On Channagiri Road (SH 76)	Chikkamagalur	Regular	105	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
151	Within Ponnampete Panchayath On State Highway	Kodagu	Regular	105	OBC	DODO	-	30	30	900	25	75	DOL	15	4
152	On By Pass of NH 275 within Puttur Limits	Dakshina Kannada	Regular	160	Open	DODO	-	35	35	1225	25	100	DOL	15	5
153	From Hebbal To Yelahanka On LHS Of NH 44	Bangalore Urban	Regular	290	Open CC-1	DODO	-	30	30	900	25	60	DOL	15	5
154	From Bommasandra To Jigani APC Circle On Bommasandra- Jigani Link Road	Bangalore Urban	Regular	279	OBC	DODO	-	20	20	500	25	60	DOL	15	4
155	From Electronic City To Chandapura On LHS Of NH 7 (NH 44)	Bangalore Urban	Regular	371	SC	CFS	67.60	30	30	900	-	-	DOL	Nil	3
156	Within 2 Kms From Murdeshwara Junction On NH 66 Towards Honnavar	Uttar Kannada	Regular	160	Open	DODO	-	35	35	1225	25	100	DOL	15	5
	From Circuit House To Ajjarkad Main Road in Udupi town	Udupi	Regular	155	Open	DODO	-	30	30	900	25	60	DOL	15	5
1 158	From Ibur Junction To Kaikondarahalli On Ambalipura - Sarjapura Road	Bangalore Urban	Regular	275	OBC	DODO	-	20	20	500	25	60	DOL	15	4
	, ,	Bangalore Urban	Regular	360	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
	From Udupi To Parkala On NH 169A	Udupi	Regular	155	Open	DODO	-	35	35	1225	25	100	DOL	15	5
-	On LHS of NH 66 between Kundapura and Trasi	Udupi	Regular	155	Open	DODO	-	35	35	1225	25	100	DOL	15	5
162	On Any Main Road In Chandra Layout	Bangalore Urban	Regular	272	OBC	DODO	-	20	20	500	25	60	DOL	15	4
163	Within Nandikur Limits On LHS of SH 1 from Padubidri To Karkala	Udupi	Regular	155	Open	DODO	-	30	30	900	25	75	DOL	15	5
164	From Nice Road Junction To Makali On LHS Of NH 48	Bangalore Urban	Regular	268	SC CC-1	CFS	67.60	30	30	900	-	-	DOL	Nil	3
165	From Chandapura To Attibele Toll Gate On LHS Of NH 7 (NH 44)	Bangalore Urban	Regular	251	Open-CC2	DODO	-	30	30	900	25	60	DOL	15	5
	From Hope Farm Junction To Kattamanallur	Bangalore Urban	Regular	251	OBC CC-1	DODO	-	20	20	500	25	60	DOL	15	4
167	On RHS of NH169A between Athrady To Onthibettu	Udupi	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
168	From Hope Farm Junction To Channasandra	Bangalore Urban	Regular	337	ST	CFS	67.60	20	20	500	-	-	DOL	Nil	3

		1	1			1	1	ı	ı	ı	ı	I	ı		
169	Between Zahiruddin Mekke Circle And RTO Office,	Kolar	Regular	251	OBC	DODO	-	20	20	600	25	60	DOL	15	4
170	On Bangarpet Road, Kolar Town Within Brahmavara Panchayath Limit on NH 66	Udupi	Regular	150	Onon	DODO	_	35	35	1225	25	100	DOL	15	5
171	Within Malpe-Kodavoor Limits (Kalmady) Not on NH169A	Udupi	Regular	150	Open Open	DODO	_	30	30	900	25	60	DOL	15	5
172	On Any Main Road In Vijayanagar	Bangalore Urban	Regular	243	OBC	DODO	_	20	20	500	25	60	DOL	15	4
173	On KV Jairam Road, Jakkur			335	SC	CFS	67.60	20	20	500	23	00	DOL	Nil	3
174	On LHS of NH 66 from Kirimanjeshwara To Kambadakon	Bangalore Urban	Regular	150	Open	DODO	67.00	35	35	1225	25	100	DOL	15	5 5
	·	Udupi Udupi	Regular	150		DODO	_		35	1225	25	100	DOL	15	5
175 176	On NH 66 Between Sasthana To Saligrama Village Within Gauribidanur Town Limit (On Any Main Road)	Chikkaballapur	Regular		Open OBC	DODO	-	35		600			DOL		4
	, , , , ,	•	Regular	241 316		CFS	67.60	20	20		25	60		15 Nil	· ·
177	From RR Nagar Arch To Jayanna Circle	Bangalore Urban	Regular	316	SC	CFS	67.60	20	20	500	-	-	DOL	INII	3
178	On Nh 66 between Udyavara and Balayipade (Udupi Padubidri Road)	Udupi	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
179	Within 2.0 Kms From Kunigal Town Circle Towards Hassan On BM Road, Kunigal	Tumkur	Regular	228	Open CC-1	DODO	-	20	20	600	25	60	DOL	15	5
180	On Thanisandra Main Road	Bangalore Urban	Regular	214	OBC	DODO	-	20	20	500	25	60	DOL	15	4
181	On RHS of NH 48 from Nice Road Junction To Makali	Bangalore Urban	Regular	310	ST	CFS	67.60	30	30	900	-	-	DOL	Nil	3
182	Between Padil And Arkula On NH-73	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
183	From Guruvyankere To Belthangady Road On NH-73	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
184	On Any Main Road In RT Nagar	Bangalore Urban	Regular	207	OBC	DODO	-	20	20	500	25	60	DOL	15	4
185	On SH 118 from Guruvayankere To Uppinangady	Dakshina Kannada	Regular	150	Open	DODO	-	30	30	900	25	75	DOL	15	5
186	NGEF Layout On Nagarbhavi Main Road	Bangalore Urban	Regular	304	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
187	Within 1.5 Kms From Guruvayanakere Bus Stop towards Venur On SH-	Dakshina Kannada	Regular	150	Open	DODO	-	30	30	900	25	75	DOL	15	5
188	From Chandapura To Electronic City On LHS Of NH 7	Bangalore Urban	Regular	202	OBC	DODO	_	30	30	900	25	60	DOL	15	4
189	From Kunitkana Junction to Kavoor on Bajpe main Road	Dakshina Kannada	Regular	150	Open	DODO	-	30	30	900	25	60	DOL	15	5
190	Polali Rajarajeshwari Temple Dwara To Badaka Bailu On SH 101	Dakshina Kannada	Regular	100	SC PH	CFS	22.90	30	30	900	-	-	DOL	Nil	3
191	From Shivakumar Swamy Circle To Caltex Circle	Tumkur	Regular	200	OBC PH	DODO	-	20	20	600	25	60	DOL	15	4
192	Between Bunts Hostel Circle To Mallikatte Circle	Dakshina Kannada	Regular	150	Open	DODO	-	20	20	600	25	60	DOL	15	5
193	Between Kulur To Kotara On NH 66	Dakshina Kannada	Regular	150	Open	DODO	-	30	30	900	25	60	DOL	15	5
194	Within Tiptur Town On NH 73	Tumkur	Regular	198	OBC	DODO	_	30	30	900	25	60	DOL	15	4
195	From Yelahanka To Bangalore Airport Toll Plaza On RHS Of NH 44	Bangalore Urban	Regular	301	SC	CFS	67.60	30	30	900	-	-	DOL	Nil	3
196	From A.B. Shetty Circle To Pandeshwara Railway Level Crossing	Dakshina Kannada	Regular	150	Open	DODO	-	20	20	600	25	60	DOL	15	5
197	On LHS of NH 73 from Mani To Kalladka	Dakshina Kannada	Regular	150	Open	DODO	_	35	35	1225	25	100	DOL	15	5
198	From Chandapura To Anekal Circle	Bangalore Urban	Regular	196	OBC	DODO	_	30	30	900	25	60	DOL	15	4
199	From Hoodi Circle To Hope Farm Junction On Whitefield Main Raod	Bangalore Urban	Regular	292	ST	CFS	67.60	20	20	500	-	-	DOL	Nil	3
200	From Manihalla to B C Road on NH 73	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
201	Between Alva's Instituite Of Engineering And Technology To Dooma Chadav On NH-169	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
202	On LHS of NH 66 from Kolachi Kambla cross To Mulki	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
203	From Yelahanka To Bangalore Airport Toll Plaza On LHS Of NH 44	Bangalore Urban	Regular	192	OBC	DODO	-	30	30	900	25	60	DOL	15	4
204	From Attibele To Anekal On SH 35	Bangalore Urban	Regular	291	SC	CFS	67.60	20	20	500	-	-	DOL	Nil	3
205	Between Shivakumar Swamy Circle To Batwadi Junction	Tumkur	Regular	189	Open CC-1	DODO	-	20	20	600	25	60	DOL	15	5
206	From Town Hall Circle To Shridevi Institute Of Medical Sciences And Research Hospital	Tumkur	Regular	183	ОВС	DODO	-	20	20	600	25	60	DOL	15	4
207	Between Nelyadi and Hosamajalu On NH-75	Dakshina Kannada	Regular	150	Open	DODO	_	35	35	1225	25	100	DOL	15	5
208	On RHS of NH948, Within 3 Km From Sultan Shariff Circle (Gundlupet Circle), Chamrajanagara Towards Sathyamangala	Chamrajanagar	Regular	240	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
209	Between Someshwara To Talapady Toll Plaza On NH-66	Dakshina Kannada	Regular	150	Open	DODO	_	35	35	1225	25	100	DOL	15	5
210	On Any Main Road In Kodigehalli	Bangalore Urban	Regular	176	OBC	DODO	_	20	20	500	25	60	DOL	15	4
210	On Any Main Noad in Nodigenain	Dangaiore Orban	negulai	1/0	OBC	טטטט	<u> </u>			300	23	UU	DOL	13	<del></del>

211	Within Constitution Lines Con NULCC	Dalahina Kannada	Describer	150	0	D0D0	I	20	20	600	25	<u></u>	DOL	15	-
-	Within Surathkal Town Limit On NH 66	Dakshina Kannada	Regular	150	Open	DODO	-	20	20	600	25	60	DOL	15	5
	Between Thokattu To Someshwara On NH-66	Dakshina Kannada	Regular	150	Open	DODO	- 22.00	35	35	1225	25	100	DOL	15 N:1	5
	On LHS of NH275 From Manchanyakanahalli To Kallugopali	Ramnagara	Regular	229	SC CC-1	CFS	22.90	35	35	1225	-	100	DOL	Nil	3
	On LHS Of NH 48 From Makali To Nelamangala RTO Office	Bangalore *	Regular	168	OBC CC-1	DODO	-	30	30	900	25	100	DOL	15	4
	Within Ujire Town Limit	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
	On RHS Of NH 48 From Makali To Nelamangala RTO Office	Bangalore *	Regular	167	Open PH	DODO	-	30	30	900	25	100	DOL	15	5
1 21/	On RHS of NH 948, Within 3 Km From Harohalli Circle (Siddapura- Bidadi Road Intersection) Towards Bangalore	Ramnagara	Regular	202	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
	On Dr. ViSHnu Vardhan Road From Kengeri To Uttarahalli	Bangalore Urban	Regular	166	OBC	DODO	-	20	20	500	25	60	DOL	15	4
219	Between BG School Junction To Bunts Hostel Circle Via PVS Junction	Dakshina Kannada	Regular	150	Open	CODO	51.00	20	20	500	25	15	Bidding	30	5
220	MS Palya Circle To Attur Layout On Yelahanka Road	Bangalore Urban	Regular	162	OBC	DODO	-	20	20	500	25	60	DOL	15	4
221	Within 2 Kms From Chokkahalli Industrial Area Towards Hoskote On SH-82	Bangalore Rural	Regular	200	ST	CFS	22.90	30	30	900	-	-	DOL	Nil	3
1 111	On LHS of NH 66 Between Surathkal Toll To Halengady Junction within Corporation Limit	Dakshina Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
223	On RHS of NH 173 Towards Kadur within Bilekellahalli Panchayath Limit	Chikkamagalur	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
224	Within Saraswathipura Panchayath Limit On NH 173	Chikkamagalur	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
225	On Sarjapura Main Road From Kodathi Gate To Bellanduru Gate	Bangalore Urban	Regular	162	ОВС	DODO	-	20	20	500	25	60	DOL	15	4
226	On LHS of NH 275 Within 2 Km From Sanjay Circle, Mandya City Towards Mysore	Mandya	Regular	167	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
227	Between Karki & Haldipur On NH 66	Uttar Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
228	On Any Main Road On Doddabommasandra	Bangalore Urban	Regular	158	Open CC-1	DODO	-	20	20	500	25	60	DOL	15	5
229	From Hanumanthapura Circle To KEB Choultry On Belugumba Road	Tumkur	Regular	156	ОВС	DODO	-	20	20	600	25	60	DOL	15	4
230	On NH 766 (LHS) From Madarhalli, Gundlupet Taluk Till intersection with NH181 Within Gundlupete Town Limits	Chamrajanagar	Regular	196	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
231	Within Harwada Panchayath Limit On NH 66	Uttar Kannada	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
1 /3/	Within 2.5Kms From Kurudihalli Cross On Kunigal- Tumkur Road Towards Tumkur On SH 33	Tumkur	Regular	125	OBC	DODO	-	30	30	900	25	75	DOL	15	4
233	Between Karkala By Pass Circle and Doopadakatte On State Highway	Udupi	Regular	145	Open	DODO	-	30	30	900	25	75	DOL	15	5
234	Within Saliagrama town Limit on RHS of road from Kota Murukai towards Saibarkatte	Udupi	Regular	140	Open	DODO	-	20	20	600	25	60	DOL	15	5
235	Within 2 Km From Kirangur Entrance Junction (NH150 A Intersection) towards Bangalore On RHS of NH 275	Mandya	Regular	190	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
236	On Any Main Road Within Madhugiri Town	Tumkur	Regular	118	OBC	DODO	-	20	20	600	25	60	DOL	15	4
237	Within Kemmai limits On Puttur-Uppinangady Road.	Dakshina Kannada	Regular	140	Open	DODO	-	25	25	625	25	60	DOL	15	5
238	From Kadur Bypass Road To AIT Circle in Chikkamagalur	Chikkamagalur	Regular	135	Open	DODO	-	30	30	900	25	60	DOL	15	5
1 239	LHS On KRS Road Within 1 Km From Akashawani Circle Towards Mysore Ring Road Junction, Mysore City	Mysore	Regular	184	SC	CFS	51.00	20	20	600	-	-	DOL	Nil	3
240	On Tekal Road ( Within Kolar Town Limits)	Kolar	Regular	100	OBC	DODO	-	20	20	600	25	60	DOL	15	4
241	Within Mundkuru Panchayth Limit On SH-67	Udupi	Regular	120	Open	DODO	-	30	30	900	25	75	DOL	15	5
242	Within Pudu Panchayath Limit On Mangalore Thumbe Road (NH 73 )	Dakshina Kannada	Regular	120	Open	DODO	-	35	35	1225	25	100	DOL	15	5
243	LHS On Mananthavadi Road Within 2 Km From Mysore Ring Road Junction Towards M.A Srinivas Circle, Mysore City	Mysore	Regular	175	OBC	DODO	-	20	20	600	25	60	DOL	15	4
	On BH Road, Within Nelamangala Town Limits	Bangalore Rural	Regular	182	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
	Within Ninthikallu limits on Subramanya-Puttur Road	Dakshina Kannada	Regular	115	Open	DODO	-	30	30	900	25	75	DOL	15	5
246	Between Siddapura And Nellihudikeri On State Highway	Kodagu	Regular	115	Open	DODO	-	30	30	900	25	75	DOL	15	5
247	Within 1 Km Of Kanakpura Circle In Ramnagara City On NH275 (LHS Towards Mysore)	Ramnagara	Regular	169	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
1 /48	From Dawood/Abba Road Intersection On Bangalore Nilgiri High Road Till Tipu Sultan Circle, Mysore City	Mysore	Regular	181	SC	CFS	51.00	20	20	600	-	-	DOL	Nil	3

			1			1	<u> </u>		ı	1		1	1		
749	On LHS of SH 100 Within 1 Km From Kanyana Junction Towards Manjeshwara	Dakshina Kannada	Regular	110	Open	DODO	-	30	30	900	25	75	DOL	15	5
250	Within 10 Kms From Madikeri On Virajpete Road SH 27	Kodagu	Regular	110	Open	DODO	-	30	30	900	25	60	DOL	15	5
I 251	On LHS of NH 275 Within 2 Km From Sathanur Circle, Channapatna Towards Mysore	Ramnagara	Regular	199	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
252	Between Kapinadka and Sulkeri On SH-37	Dakshina Kannada	Regular	105	Open	DODO	-	30	30	900	25	75	DOL	15	5
253	Within 1 Km Of Arsikere Taluk Office On NH73 (LHS Towards Hassan Circle, Arsikere)	Hassan	Regular	175	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
254	Within 2 Kms From Jn Of NH 48 And NH 648 At Dobaspete Towards Doddabalapura	Bangalore Rural	Regular	167	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
255	Road (SH33) - LHS Towards Mysore (Not In City Limit)	Mysore	Regular	166	Open CC-1	DODO	-	30	30	900	25	75	DOL	15	5
	Within Sullia Town Limit on any main road	Dakshina Kannada	Regular	100	Open	DODO	-	30	30	900	25	60	DOL	15	5
257	Within Sedam Town Limits On Any Main Road	Kalburgi	Regular	545	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
258	On LHS of NH 75 towards Hassan Within 1 Km Of Nelligere Cross	Mandya	Regular	159	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
	From Ullala Abbakka Circle To Thokkotu Junction	Dakshina Kannada	Regular	100	Open	DODO	-	30	30	900	25	60	DOL	15	5
	<u> </u>	Dakshina Kannada	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
1 261	On LHS of NH 52 (Vijaypura - Solapur Highway) from Horti Crossing To Gundawan Crossing	Vijaypura	Regular	520	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
1 262	Within 5 Kms From Columbia Asia Hospital Signal, Mysore Towards Bangalore On LHS Of NH 275 (Not In City Limits)	Mysore	Regular	156	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
263	Within Kushalnagara Municipal Limits	Kodagu	Regular	100	Open	DODO	-	30	30	900	25	60	DOL	15	5
264	On RHS of Mahadevapura Main Road / Azeez Sait Main Road, From Maharshi Valmiki Circle (Mysore Ring Road Junction) Till Sawday Road / Hyder Ali Road Intersection, Mysore City	Mysore	Regular	153	Open CC-2	DODO	-	20	20	600	25	60	DOL	15	5
265	Within 3 Kms From Hoskote Towards Chikkatirupati On NH-648	Bangalore Rural	Regular	153	OBC CC-1	DODO	-	35	35	1225	25	100	DOL	15	4
266	On LHS of NH 48 towards Sankeshwar from Intersection with Murgud Road To Jain Temple, Tavandi	Belgavi	Regular	470	SC CC-1	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
267	Between Kudregundi & Koppa On SH 65	Chikkamagalur	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
268	Within 2.0 Kms From Attibele Towards Chandapura On LHS Of NH 7	Bangalore Urban	Regular	300	Open	DODO	-	20	20	500	25	60	DOL	15	5
769	LHS On Hunsur Road In Mysore City From Hinkal Ring Road Junction Till Valmiki Road Intersection	Mysore	Regular	152	OBC	DODO	-	20	20	600	25	60	DOL	15	4
1 ///	On LHS of NH48 towards Kolhapur from Intersection Of Nipani Bypass (NH48) And Murgud Road To Intersection Of NH48 And SH98	Belgavi	Regular	470	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
1 7/1	On Outer Ring Road Between Ambedkar College Nagarbhavi And Magadi Road Junction	Bangalore Urban	Regular	214	Open	DODO	-	20	20	500	25	60	DOL	15	5
) /)	Within 2 Kms From Chinnasandra Circle (Towards Hoskote) On RHS On SH-82 (Hoskote - Chintamani- Gownipalli)	Chikkaballapur	Regular	194	Open	DODO	-	30	30	900	25	75	DOL	15	5
1 //3	Within 2 Kms From Hoskote Govt Hospital (On LHS) Towards Toll Gate On NH-75.	Bangalore Rural	Regular	152	OBC	DODO	-	30	30	900	25	60	DOL	15	4
	On Infantry Road	Bangalore Urban	Regular	180	Open	CODO	67.60	20	20	500	25	15	Bidding	30	5
1 2/5	From Pour Pay & Ply Services Station to Grand Dhaba On NH65 (Sastapur To Mumbai Highway)	Bidar	Regular	470	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
	Within Dandeli Town Limit	Uttar Kannada	Regular	120	Open	DODO	-	20	20	600	25	60	DOL	15	5
)//	On LHS of NH 275 from Ramnagara KSRTC Bus Stand to Police Head Quarters/Bhavan, Ramnagara City	Ramnagara	Regular	151	ОВС	DODO	-	35	35	1225	25	100	DOL	15	4
278	On LHS of NH 75 Within 2.5 Km From Bypass (Gorur Road) Circle, Hassan Towards Bangalore	Hassan	Regular	151	Open CC-1	DODO	-	35	35	1225	25	100	DOL	15	5
279	On LHS of NH 65 (Humnahad-Sastanur ) towards Hyderahad from	Bidar	Regular	470	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3

		ī	1			1	1	1	I	1			I		
1 280	On LHS of NH275 Within 4 Km From SR Road Intersection Towards Mysore (Not In City Limits)	Mysore	Regular	151	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
	On Begur Lake Road	Bangalore Urban	Regular	178	Open	DODO	-	20	20	500	25	60	DOL	15	5
	On Padmanabha Nagar, 18Th Main Road	Bangalore Urban	Regular	170	Open	DODO	-	20	20	500	25	60	DOL	15	5
1 283	On LHS of JLB Road From M.A. Srinivas Circle To JSS College Junction/Bus Stop	Mysore	Regular	151	OBC	DODO	-	20	20	600	25	60	DOL	15	4
284	Within Hagaribomanahalli Town Limits ( On Any Main Road)	Bellary	Regular	180	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
285	On 29th Main Road BTM 2nd Stage	Bangalore Urban	Regular	157	Open	DODO	-	20	20	500	25	60	DOL	15	5
1 286	From Junglepalya Gate To Ragihalli Gate On Bannerughatta-Jigani Road	Bangalore Urban	Regular	156	Open	DODO	-	20	20	500	25	60	DOL	15	5
727	Within 2 Km From Nehru Nagar Circle, Belur Towards Halebeedu On NH73	Hassan	Regular	150	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
288	Raichur To Shakthinagar On NH-167	Raichur	Regular	390	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
289	On Chunchgatta Main Road	Bangalore Urban	Regular	155	Open	DODO	-	20	20	500	25	60	DOL	15	5
290	On LHS of NH 69 from Chintamani to Sidalaghatta	Chikkaballapur	Regular	153	Open	DODO	-	35	35	1225	25	100	DOL	15	5
1 291	Within 1 KM of Sultan Shariff Circle (Gundlupet Circle), Chamarajanagara Town On LHS of NH948 (towards Sathyamangala)	Chamrajanagar	Regular	150	OBC PH	DODO	-	35	35	1225	25	100	DOL	15	4
292	Within Sandur Town Limits ( On Any Main Road)	Bellary	Regular	180	SC PH	CFS	28.10	20	20	600	-	1	DOL	Nil	3
293	From Venkatagirikota To Kuppam (Within Karnataka Limits) On NH-42	Kolar	Regular	151	Open	DODO	-	35	35	1225	25	100	DOL	15	5
744	Within 3 Kms From Chowdanakuppe Cross On SH -85 Towards Magadi On Magadi-Huliyurdurga Road	Tumkur	Regular	107	Open	DODO	-	30	30	900	25	75	DOL	15	5
795	From Thandavpura Till 2 Km Of Hullahalli Circle, Nanjangud, On LHS of NH 766 towards Begur	Mysore	Regular	150	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
296	Within 3 Kms From Sidlaghata Town Towards Hoskote On SH-35	Chikkaballapur	Regular	100	Open	DODO	-	30	30	900	25	60	DOL	15	5
1 /4/	On LHS of NH 52 towards Solapur from Pandharpur Road Junction To Bhagyavanti Petroleums (Vijaypura - Solapur Road)	Vijaypura	Regular	330	ST	CFS	22.90	35	35	1225	-	+	DOL	Nil	3
298	Within 1 Kms Of Parvasi Garden Restaurant On NH-48 (On RHS From Nelamangala Towards Dobaspete)	Bangalore Rural	Regular	174	Open	DODO	-	35	35	1225	25	100	DOL	15	5
299	On LHS of NH275 from Tippu Circle Towards Piriyapatna Within Hunsur Town Limits	Mysore	Regular	150	OBC	DODO	-	35	35	1225	25	100	DOL	15	4
300	On Mysore Ring Road, From Bogadi Signal Either Within 1 Km Towards Hinkal (RHS) Or Within 1 Km Towards Dattagalli (RHS), Mysore	Mysore	Regular	159	Open	DODO	-	20	20	600	25	60	DOL	15	5
301	On LHS of NH 52 towards Bangalore From Indi Road Crossing To Maruti Suzuki Arena (Vijaypura Byepass)	Vijaypura	Regular	330	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
302	LHS On Mananthavadi Road From M.A. Srinivas Circle Till Link Main Road Intersection, Mysore City	Mysore	Regular	150	OBC	DODO	-	20	20	600	25	60	DOL	15	4
303	On RHS of NH 766, from Begur till before Gundlupet Town Limit beginning (Not in Gundlupet municipal limits)	Chamrajanagar	Regular	152	Open	DODO	-	35	35	1225	25	100	DOL	15	5
304	LHS on T. Narsipura Road From Teresian College Circle (Dr. Rajkumar Main Road Intersection) Till Mysore Ring Road Junction (Savitri Bai Phule Junction), Mysore City	Mysore	Regular	150	Open CC-1	DODO	-	20	20	600	25	60	DOL	15	5
	Within Devanahalli Town Limits On SH-104	Bangalore Rural	Regular	143	OBC	DODO	-	30	30	900	25	60	DOL	15	4
306	Kottur - Within Town Panchayat Limits ( On Any Main Road)	Bellary	Regular	180	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
307	RHS On NH275 From Hosakamana Koppalu Towards Mysore (Not In City Limits )	Mysore	Regular	152	Open	DODO	-	35	35	1225	25	100	DOL	15	5
30X	Within 2 Kms From TB Circle Towards Dobaspete On NH648 Doddballarpur.	Bangalore Rural	Regular	151	Open	DODO	-	30	30	900	25	60	DOL	15	5
309	On LHS of SH 33, within 2.5 Km From HD Kote Handpost Towards Anthrasanthe	Mysore	Regular	124	OBC	DODO	-	30	30	900	25	75	DOL	15	4
	Within Hospet Town Limits ( On Any Main Road)	Bellary	Regular	240	ST	CFS	28.10	20	20	600	-	•	DOL	Nil	3
I 311	On LHS From Thavakere Village To Volvo Bus Factory On NH-75 (Kolar-Hoskote Section)	Bangalore Rural	Regular	151	Open	DODO	-	35	35	1225	25	100	DOL	15	5

312	On RHS of NH75 Towards Hassan, Within 2 Km Of Hatna	Mandya	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
313	From Deveramanahalli Till 2 Km Of Hullahalli Circle, Nanjangud, On LHS of NH 766 towards Mysore	Mysore	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
314	Within 2 Km From HD Kote Police Station Towards HD Kote Hand Post On H. B. Road (SH86), HD Kote	Mysore	Regular	121	OBC CC-1	DODO	-	30	30	900	25	75	DOL	15	4
315	Within Bellary Town Limits ( On Any Main Road)	Bellary	Regular	240	ST CC-1	CFS	51.00	20	20	600	-	-	DOL	Nil	3
316	Within 1 Km Of Maruthi Circle On Old BM Road (Not NH) In Hunsur Town	Mysore	Regular	118	Open PH	DODO	-	20	20	600	25	60	DOL	15	5
317	On SH21 Within 2 Km From Bypass (Gorur Road) Circle (NH75-SH21 Intersection In Hassan) Towards Arkalgud	Hassan	Regular	116	OBC	DODO	-	30	30	900	25	75	DOL	15	4
318	From Shivadanahalli Village To Sulibele On NH-648 ( Hoskote - Devanahalli Section)	Bangalore Rural	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
319	On LHS of NH 52 (Vijayapur bypass towards Solapur) from S Mart To Shantiniketan School	Vijaypura	Regular	330	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
320	Within 6 Km From Nehru Nagar Circle, Belur Towards Hassan On SH57 (Belur Hassan Road)	Hassan	Regular	101	Open	DODO	-	30	30	900	25	75	DOL	15	5
321	Within 1 Km Of Basaveshwara Circle, Bannur On M.M. Road (SH33)	Mysore	Regular	108	OBC	DODO	-	30	30	900	25	75	DOL	15	4
322	On Scout Camp Road (Annie Besant Park Road) ,Dodballarpura	Bangalore Rural	Regular	113	Open	DODO	-	20	20	600	25	60	DOL	15	5
323	On SH79 From Kollegal - Anthiyur/Kollegal-Rampura Road Intersection towards Kollegal within Hanur Town Limits	Chamrajanagar	Regular	109	Open	DODO	-	30	30	900	25	75	DOL	15	5
324	From N.E.K.R.T.C Depot Chittapur To Mudbol-Bhagodi Road Intersection On SH126 (Chittapur To Malkhed )	Kalburgi	Regular	315	SC	CFS	22.90	30	30	900	-	-	DOL	Nil	3
325	Within 1.5 Km Of H. N. Nanjegowda Circle, Arkalgud On RHS of SH 21 Towards Ramnathpura	Hassan	Regular	107	OBC	DODO	-	30	30	900	25	75	DOL	15	4
326	Within 4 Kms From Rangappa Circle Towards Neelamangala On SH-74 (Doddabalapur - Neelamangala Section) , Doddballarpur.	Bangalore Rural	Regular	125	Open	DODO	-	30	30	900	25	75	DOL	15	5
327	On RHS of SH81 towards Chamrajnagar, Within 2 Kms From intersection with SH86 at Terakanambi	Chamrajanagar	Regular	107	Open CC-1	DODO	-	30	30	900	25	75	DOL	15	5
328	On LHS of NH 67 (towards Hospet) from Reliance Petroleum To Gadiganur Village	Bellary	Regular	330	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
329	Within 1 Km Of H. N. Nanjegowda Circle, Arkalgud On LHS of SH21 towards Ramnathpura	Hassan	Regular	105	OBC	DODO	-	30	30	900	25	75	DOL	15	4
330	On LHS of NH 48 From Venkatpur Village To Old Mulla Dhaba,Tegur	Belgavi	Regular	120	Open	DODO	-	35	35	1225	25	100	DOL	15	5
331	From Nesargi To Mallapur KN Panchayath On Belgaum Gokak Road	Belgavi	Regular	110	Open	DODO	-	30	30	900	25	75	DOL	15	5
332	Within 2 Kms From Dobaspete Towards Shivagange On SH-3.	Bangalore Rural	Regular	103	OBC	DODO	-	30	30	900	25	75	DOL	15	4
333	On LHS of NH 50 (towards Humnabad) from Mother Teresa Hospital To Shri Swami Samarth Seva Temple Gaushala	Kalburgi	Regular	225	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
334	On LHS Of NH 50 Within 3Kms From Baitul Uloom Sindagi Towards Vijayapura	Vijaypura	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
335	On LHS From Kalakeri Village Towards Amargol Road Junction On NH52 (Naragund-Hubli Section)	Gadag	Regular	150	Open	DODO	-	35	35	1225	25	100	DOL	15	5
336	On SH57 Within 2 Km From Channapatna Circle (NH75 Intersection), Hassan Towards Holenarsipura	Hassan	Regular	102	OBC	DODO	-	30	30	900	25	75	DOL	15	4
337	On LHS of NH 52 (towards Vijayapur) from Gaddanakeri Cross To Ghataprabha River Bridge	Bagalkot	Regular	225	SC	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
338	From Bauxite Road SH20 Junction To Green Garden Function Hall	Belgavi	Regular	195	Open	DODO	-	20	20	600	25	60	DOL	15	5
339	On SH85 from Someshwara Colony Junction Till Hosapete Gate In Magadi Town	Ramnagara	Regular	100	Open	DODO	-	30	30	900	25	75	DOL	15	5
340	On RHS of SH 84, within 2 Km From Golur Circle (NH150A - SH84 Junction At Golur, Nanjangud) towards T Narsipura	Mysore	Regular	102	ОВС	DODO	-	30	30	900	25	75	DOL	15	4

r		_	_			T		ı	ı				ı	1	1
1 2/17	On LHS of NH 167 (towards Yeragere) from Swimming Pool Resort To Temple - Sadguru Śrī Ārūḍha Jyōti Śāntāśrama Śivaputra Nagara,	Raichur	Regular	258	ST	CFS	22.90	35	35	1225	-	-	DOL	Nil	3
342	On LHS of NH766 Towards Mysore, Within 2.5 Km Of K.N. Hundi Toll Plaza, Madaragalli	Mysore	Regular	257	Open	DODO	-	35	35	1225	25	100	DOL	15	5
343	Within 5 Kms From Devanahalli Towards Vijaypura On SH-96	Bangalore Rural	Regular	102	OBC	DODO	-	30	30	900	25	75	DOL	15	4
344	On LHS of B.M. Road (SH) Towards Bangalore, within 2 Km Of Govt. Hospital Circle, Channarayapatna Town	Hassan	Regular	101	Open	DODO	-	30	30	900	25	75	DOL	15	5
345	On RHS of SH 21, within 2 Km From SBI, Bettadapura Branch towards Ramnathpura	Mysore	Regular	101	Open	DODO	-	30	30	900	25	75	DOL	15	5
346	On SH 10 From Intersection with Kurgunta Road at Injepalli To Kasthuri Nath Kaman, Adki (Sedam- Adki Road)	Kalburgi	Regular	315	SC	CFS	22.90	30	30	900	-	-	DOL	Nil	3
347	Jabbar Petrol Pump To Polakapally Villlage Road Junction On SH122 ( Chincholi- Tandur Road)	Kalburgi	Regular	315	ОВС	DODO	-	30	30	900	25	75	DOL	15	4
1 34X	On LHS of NH 748 (towards Karwar) from SC/ST Post Metric Boy'S Hostel To MG Automotive And Coach (Belgavi- Karwar Road)	Belgavi	Regular	300	Open	DODO	-	35	35	1225	25	100	DOL	15	5
349	Within Basavkalyan Town Limits ( On Any Main Road)	Bidar	Regular	270	Open	DODO	-	20	20	600	25	60	DOL	15	5
350	Within Bidar Town Limits ( On Any Main Road)	Bidar	Regular	270	SC	CFS	28.10	20	20	600	-	-	DOL	Nil	3
351	Between Thokottu to Mudippu on Thokottu-Konaje University Road	Dakshina Kannada	Rural	70	OBC	DODO	-	25	25	625	20	50	DOL	5	3
352	From Dr.APJ Abdul Kalam Urdu and English medium School Jamkhandi to Jambagi Bridge	Bagalkot	Rural	75	Open CC-1	DODO	-	25	25	625	20	50	DOL	5	4
1 353	Between Telangana border and Konchavaram cross (Ambedkar Circle) on Kunchavaram to Pochawaram road	Kalburgi	Rural	315	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
354	On Badagandi - Girisagar road from junction with NH52 at Badagandhi to junction with Bilagi Sugar Mill Road	Bagalkot	Rural	75	OBC	DODO	-	25	25	625	20	50	DOL	5	3
355	Within 1 Km of Kithoor Circle on Kithoor Circle to Bettadapura Road (Not in municipal limits & Not in NH/SH), Piriyapatna Taluk	Mysore	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
356	Within 2 Kms from Rampura on Rampura- Gudekote Road	Chitradurga	Rural	70	Open	DODO	-	25	25	625	20	50	DOL	5	4
35/	On Chikkalaki - Savalagi road from Chikkalaki Crossing to Junction of Nagnur -Todalbagi Road	Bagalkot	Rural	75	ОВС	DODO	-	25	25	625	20	50	DOL	5	3
358	On Bhalki to Halbarga road from Shivaji Chowk to Dharajwadi Road Intersection	Bidar	Rural	120	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
359	On Madikeri Bagamandala road within Appangala village limits (Not on NH/SH)	Kodagu	Rural	60	Open	DODO	-	25	25	625	20	50	DOL	5	4
360	On Kutta Nagarhole road between Nagarhole and Kembukulli	Kodagu	Rural	60	Open	DODO	-	25	25	625	20	50	DOL	5	4
361	On Koppal - Kinnal road from FCI Godown to Intersection with Ojinahalli Road	Koppal	Rural	74	ОВС	DODO	-	25	25	625	20	50	DOL	5	3
	On Sasalatti - Terdal road, from Sasalatti to Terdal town limits	Bagalkot	Rural	105	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
363	Within Doddachellur village limit on Parashurampura - Sira Road	Chitradurga	Rural	60	Open	DODO	-	25	25	625	20	50	DOL	5	4
364	Within Halagi Panchayat limits (Not on SH)	Haveri	Rural	45	Open	DODO	-	25	25	625	20	50	DOL	5	4
	On Badanahatti - Bellary road from Badanahatti to Canal Crossing	Bellary	Rural	72	OBC PH	DODO	-	25	25	625	20	50	DOL	5	3
366	On Athani - Renuka Sugar road from Renuka Sugars Factory Gate to Kategari Village	Belgavi	Rural	105	SC PH	CFS	16.60	25	25	625	-	-	DOL	NIL	2
	On KM Doddi - Halaguru main road, within 5 km from intersection with SH 33 at KM Doddi (Not in municipal limits & Not on SH/NH)	Mandya	Rural	53	Open	DODO	-	25	25	625	20	50	DOL	5	4
368	Within 2 KMs from MVIT Cross on NH 44 towards Rajankunte	Bangalore Urban	Rural	50	Open	DODO	-	25	25	625	20	50	DOL	5	4
	Main Road)	Mysore	Rural	71	ОВС	DODO	-	25	25	625	20	50	DOL	5	3
	On Kunigal Main Road from Ramnagara city limits to Jalamangala via Kanchidoddi (Not in municipal limits & Not on SH/NH)	Ramnagara	Rural	42	Open	DODO	-	25	25	625	20	50	DOL	5	4

		I				1	ı	1	1	1	1	1	1		
371	On Vijayapur - Sankh road. from Harsha Petroleum to Shri Maddi Maragamma Devi Temple	Vijaypura	Rural	105	ST	CFS	16.60	25	25	625	-	-	DOL	NIL	2
372	On Dodda Aladamara road, within 5 kms from Gangappanahalli circle on SH-85 towards Mysore Road	Bangalore Urban	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
373	Within Hejjala village limits on Dodderi Road (Not in Municipal Limits & not on SH/NH)	Ramnagara	Rural	65	OBC	DODO	-	25	25	625	20	50	DOL	5	3
374	On Cheeranahalli Road from Cheeranahalli (Mandya Taluk) till before Mandya City limit (Not in municipal limits & not on NH/SH)	Mandya	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
375	Nippani - Mudhol Road Junction (SH18) to Govt. PU Composite High School, Kesrakoppa	Bagalkot	Rural	100	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
376	Within Bythahalli village limits on Kadakola to Bythahalli Main Road (not NH/SH & not in Municipal limits)	Mysore	Rural	54	OBC	DODO	-	25	25	625	20	50	DOL	5	3
377	On Chinakuruli to Melukote Road via STG Public School, within 1 Km from SH7 intersection at Chinakuruli (Not in Municipal limits $\&$ not on SH/NH)	Mandya	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
378	Within Venkatiahna Chatra Village limits on Bisalvadi Road (Not on NH/SH & not in Municipal limits)	Chamrajanagar	Rural	53	Open CC-1	DODO	-	25	25	625	20	50	DOL	5	4
379	Within Sutturu Village limits on any Main Road other than SH or NH	Mysore	Rural	50	OBC	DODO	-	25	25	625	20	50	DOL	5	3
380	On Moratagi to Hawalga road from Shree Phagyavanthi Petroleum, Bagalur to Bhima River Bridge	Vijaypura	Rural	100	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
381	On Belur - Gendehalli Road via Singapura, from intersection with NH 73 at Belur to Gendehalli (Not in Municipal Limits & Not on SH/NH)	Hassan	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
382	On Gorur-Holenarsipura road via Athini-Hebbale -Sankanahalli, from SH21 intersection till SH 109 intersection (Not in Municipal Limits & Not on SH/NH)	Hassan	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
383	From T. Narispura to Mooguru on T. Narispura-Chamrajnagar Road (Not in Municipal Limits & not on NH/SH)	Mysore	Rural	50	OBC	DODO	-	25	25	625	20	50	DOL	5	3
384	On Chikpadasalgi - Savalgi road, from intersection with SH34 to Hirepadasalagi Road crossing	Bagalkot	Rural	90	ST	CFS	16.60	25	25	625	-	-	DOL	NIL	2
385	On Thadaguru - Nanjangud road, from Thagaduru to Mallupura near Bannari Amman Sugar Ltd	Mysore	Rural	40	Open	DODO	-	25	25	625	20	50	DOL	5	4
386	On Shamanur-Malebennur road, within Mudahadadi Panchayath Limit	Davangere	Rural	60	Open	DODO	-	25	25	625	20	50	DOL	5	4
387	On Buntakal - Shirva road between KM stone 8 and 10	Udupi	Rural	155	Open	DODO	-	25	25	625	20	50	DOL	5	4
388	On Savanoor - Kaniyoor Road, Within Kudmar / Belandoor panchayat	Dakshina Kannada	Rural	90	OBC CC-1	DODO	-	25	25	625	20	50	DOL	5	3
389	On Hanagandi - Chimmad road, from interscetion with SH53 to Yunus Masjid, Hanahandi		Rural	75	ST CC-1	CFS	16.60	25	25	625	-	-	DOL	NIL	2
390	Within Byramangala village limits on any main road	Ramnagara	Rural	40	Open PH	DODO	-	25	25	625	20	50	DOL	5	4
391	Within Kodiyala village limits on main road	Mandya	Rural	50	OBC	DODO	-	25	25	625	20	50	DOL	5	3
392	Agaragandi to Ajila Mogaru on Ajila Mogaru - Mavinkatte road	Dakshina Kannada	Rural	150	Open	DODO	-	25	25	625	20	50	DOL	5	4
393	On Nippani - Pattankudi - Walki road, from Pattankudi Mahalaxmi Temple to Walki Village	Belgavi	Rural	90	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
394	Within 2 Kms from Vemagal Circle towards Narsapur on RHS	Kolar	Rural	123	Open	DODO	-	25	25	625	20	50	DOL	5	4
	Within Mirle village on any main road (not on SH/NH)	Mysore	Rural	50	OBC	DODO	-	25	25	625	20	50	DOL	5	3
396	Murdeshwar Gateway to Murdeshwar temple Main road	Uttar Kannada	Rural	80	Open	CODO	16.60	25	25	625	20	10	Bidding	10	4
397	Within Aliyoor Village limits on Shirthady - Hosmar road	Dakshina Kannada	Rural	100	Open	CODO	16.60	25	25	625	20	10	Bidding	10	4
398	On Ankali - Raibag Road, from intersection with SH 72 to Nasalapur Village	Belgavi	Rural	90	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
	Within Sajipanadu village limits on Mudipu - Melkar road	Dakshina Kannada	Rural	106	OBC	DODO	-	25	25	625	20	50	DOL	5	3
400	On IOCL Road Within 5 kms from Devangunthi cross (SH 95 intersection) towards Devangunthi.	Bangalore Rural	Rural	122	Open	DODO	-	25	25	625	20	50	DOL	5	4
401	Within Konandur Panchayath Limits on Konandur-Demlapura road	Shimoga	Rural	50	Open CC-1	DODO	-	25	25	625	20	50	DOL	5	4

402	On Raibag - Harugeri road from Railway Bridge to Nidgundi Village	Belgavi	Rural	90	ST	CFS	16.60	25	25	625	-	-	DOL	NIL	2
403	Within Hejamadi panchayat limit not on NH/SH	Udupi	Rural	90	OBC	DODO	-	25	25	625	20	50	DOL	5	3
404	Within Maradala Panchayat Limits (Not on NH/SH)	Dakshina Kannada	Rural	120	Open	DODO	-	25	25	625	20	50	DOL	5	4
405	Within Subramanya Panchayat Limits (Not on NH/SH)	Dakshina Kannada	Rural	100	Open	DODO	-	25	25	625	20	50	DOL	5	4
406	Within Cherambane limits on Madikeri Bagamandal road	Kodagu	Rural	90	OBC	DODO	-	25	25	625	20	50	DOL	5	3
407	between Kukkehalli and Uppoor on Perdoor Uppoor road	Udupi	Rural	90	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
408	Within Mudarangadi village limits on Mudaragadi - Yellur road	Udupi	Rural	95	Open	DODO	-	25	25	625	20	50	DOL	5	4
409	On LHS of Tiptur road towards Tiptur, within 2.0 kms from Turuvekere Taluk Office	Tumkur	Rural	89	Open	DODO	-	25	25	625	20	50	DOL	5	4
410	Within Shivani Panchayat Limit (Not on NH/SH)	Chikkamagalur	Rural	75	OBC	DODO	-	25	25	625	20	50	DOL	5	3
411	Within Rangenahalli Panchayat limit (Not on NH/SH)	Chitradurga	Rural	75	SC	CFS	16.60	25	25	625	-	-	DOL	NIL	2
412	On Jokatte - Bajpe road between Jokatte Junction and Porkodi Junction	Dakshina Kannada	Rural	80	Open	DODO	-	25	25	625	20	50	DOL	5	4
413	On LHS of KRS Road from Belagola village (Srirangpatna Taluk) towards Mysore via Kusuma Chandrashekhar Convention Hall (Not in Municipal limits & Not on SH/NH)	Mandya	Rural	75	Open	DODO	-	25	25	625	20	50	DOL	5	4

- \* Rentals shown under 7A are only for CFS and CODO type of sites. There will be 2% increase in rentals every year till the period of lease.
- # Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential
- \*\* The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application

Bangalore \* - Site offered in Bangalore Urban and Rural Districts will be considered

Locations in the newly formed VIJAYANAGAR district is indicated in the old districts only

Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying.

Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits

"On any Main Road" mentioned in the name of locations above, refers to roads having minimum width of atleast 7 metres.

The explanation for the columns is provided in the brochure which also contains the detailed guidelines of selection for dealership along with other relevant details

The brochure can be downloaded from MRPL website at

www.mrpl.co.in

The application form and other appendices are also available for download from MRPL website

## APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SLECTION BEFORE SUBMITTING THEIR APPLICATION

The completed application form along with relevant application fee in the form of a demand draft in favour of "MANGALORE REFINERY AND PETROCHEMICALS LIMITED" payable at BANGALORE should reach the following address on or before 17:00 HRS on 07-05-2021

Completed application form to be submitted to the below mentioned address in a sealed envelope superscribed as below

" APPLICATION FOR .......(REGULAR/RURAL) RO DEALERSHIP AT......(Loc-no- as per col 1 above table),.......DISTRICT of ......(State) to be addressed to:

NRO Dealership Selection

Mangalore Refinery and Petrochemicals Limited (MRPL)
Plot A1 Opp: KSSIDC AO Building , Industrial Estate

Rajajinagar, Bangalore-560010

Karnataka

Contact: 080-22642264/2234/2235/2243 (during office hours)

Application received after the cutoff date and time will be rejected outright. MRPL will not be responsible for any delay including post delays.

## Category wise non-refundable application fee payable

	Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs		
		SC/ST	3000		SC/ST	2500		
	REGULAR	ОВС	5000	RURAL	ОВС	4000		
		Open	10000		Open	8000		

The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years there on.

MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.